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UNIT 7- DATA & PROBABILITY
. . Work to
Assignment Title complete Complete
7.1 Mean, Median, Mode & Range
TA Worksheet
| Quiz 1
7.2 Displaying Data:
) Histograms & Bar Graphs
Scatter Plots
Line Graphs
Circle Graphs
Infographics
7B Worksheet
Quiz 2
7.3 Experimental Probability
7C : Worksheet
| Quiz 3
Practice Test | Practice Test / Unit Review Assignment
Chapter Test | Show me your stuff |
Self- On the next page, complete the self-
Assessment :assessment.
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WMA 10 7.1 - Mean, Median de & Range Notes

Statistics is a field of mathematics that deals with the collecting and summarizing of data. There
are four measures of central tendency that we will be working with:

Mean (sometimes called average). To calculate the mean we add up all the values
and then divide by the number of values we have.

Median is the center or middle value. To find the median we order all the numbers
from smallest to {argest and then pick the middle number.

(If there are two numbers in the middle we take the mean of those two numbers.)

Mode is the most frequent value. To find the mode we look for the value that occurs
mast often.

Range is the difference between the highest and lowest values. (Subtract the lowest

value fro'rn the highest value) (dell=y you Nitis el e )\ fhex yo
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Example 1: Find the Mean, Median, Mode and Range of the followmg sef of numberﬁc ,f(f (\\ Z;
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Mean: Add all op & dwide bj q (thee ave 4 numbers) Mo
3+ RBr 422 AR+ Q3 +Z+ 2 = B
IBI A = Y | Mean = Q"TS[
Median » Ocdec all fomber = from smellewst Jo lar&» 5t
3,323, 26 %&@ 33, 34,34, 24 Fincl miccdly number
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Example 2: Find the Mean, Median, Mode and Range'

42,103, 113, 5.0, 605, 352, 21.7 , 24.0 , 49,

Meen Add op adl numbecs anddivide by lc} (thexe ace 10 nowkex
H410.3 W35 r0D+ -)Sgrgu“]-rg)l_]qu_,.g = 96
9% =10 = 9.6 1M€an =19, (0\

M@C\\Clﬂ Ofd(:'(cl“ (\UM‘Oc’(b'g‘(’c)nf\ :mcdlc '} +e bu’r_jt’ 3‘

4.2,49,5.0,10.3)1.3, 1B 2.7, 940, 25.2, 0.5

oo mdd\L numbees - inel the mean (adad &Cll\ml(’ by 2
.3 01%.9 = 20,3 2033 = 151

Moda : Most Common (cll cccur jomst once ) |Medhon =15 | |
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Sample Final Exam Question: L\\O(\ jé" 5. S‘ Lf

The tuition costs for ten universities are given in a table:

University | UBC | UVIC | TRU |Waterloo| McGill | UFV j UNBC | SFU | UofA | UofM
Costs ($) 7568 8650 | 9225 5880 | 6720 8840 | 7820 8432 | 8990 8260

Find the Mean, Median, Mode, and Range of the tuition prices:

Mean: add all nompers & dwide by 10 (thee ace 10 numbess )
TIBEE 4 REDO~ GAAD + BREO 46730 +5BHO + 180 B4R+ FIU0 1500 =

BWZS =0 * PITS [Mean = 4 90o%.50) BUEES

Medon =<0, G730, T56%, 7830, K60, 8433 %650, BE40, 8190, 997
Nocd oo o Hae 2 midale Nom\oes s
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WMA 10 Worksheet 7A Assignment

What Happened To The Owl
Who Swallowed A Weebch?

Work out each question on the left and draw a straight line connecting the question to the correct
answer. Each line will cross a number and a letter. The number tells you where to put the letter in

the row of boxes at the bottom of the page. .
%(ffjgfi (\;gjt"1F)¢:{aF5,";:i' (:Ihll:\J\thﬂriiﬁflﬁsl'
(3,15,12, 16, 8, 4, 19
3

1.2,3.3,1.7, 2.5, 2.7, 3.0
53, 45, 62, 70, 58, 65, 46
157, 133, 142
85,92, 67, 81,90, 76,94, 51
(3,15, 12, 16, 8, 4, 20

144

Find the Mean:
A

1.2,3.3,17, 2.5, 2.7, 3.0
157, 133, 142

85,92, 67,81,90, 76,94, 51
( 3,15,12,16,8, 4,20
1.2,3.3,1.7, 2.1, 27,33
46,70, 62,70, 58, 70, 46
\85, 92, 67, 85, 92, 76,92, 51
(3,15,12, 16,8, 4, 20
1.2,3.3,1.7, 2.5, 2.7, 3.0

53, 45, 62, 70, 58, 65, 46
157,133, 142

85,92, 67, 81, 90, 76, 94, 51

Find the Median:
Y

Find the Mode:
A

4.4
1) 142
92

Find the Range:
A
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WMA 10 7.2 - Displaying Data Notes

Histograms & Bar Graphs:
We use Bar Graphs when the data is in categories. There are spaces between the bars.

We use Histograms when the data is continuous. There are no spaces between the bars.
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Example 1: For a recent science project, you collected data regarding the distribution of fish and
aquatic life in a nearby pond. Your data consists of the number of living creatures found in each
1 meter depth increment in the pond.

A0S continoces Cin ronﬁca <0 his
Decide whether to use a histogram or a bar graph. Draw the axes and d@de on scale. Label the

axes and draw your graph. 2 Aqvuf 1N -PO ack
Depth | Nymaer ol V) (e
Range Creatures Q:)(oq :
= f
0-1 meters 10 7
Q—" . Y
1-2 meters 19 é'ﬂ- e
2-3 meters 23 =
3-4 meters 47 3 %0
' A
4-5 meters 68 C , o
b )
5-6 meters 51 Fa]
B..
6-7 meters 43 < 5
7-8 meters 21 25 o —{2
" 8-0 meters i3 1 =
Y 77
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Example 2: The medal counts from the 2014 Winter Olympics in Sochi Russia are found below.

e Austria—17 o Germany- 19 e Switzerland-11

e Belarus—6 o Netherlands — 24 e  United States — 28
o (anada-25 o Norway — 26

e France-15 ®* Russia—33

Decide whether to use a histogram or a bar graph. Draw the axes and decide on scale. Label the

axes and draw your graph. Dcitca S0 CC&ES XIES ) 5@ LEe DAl Qf‘ a{;\'\
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Scatter Plots:

We use Scatter Plots to find relationships (correlations) between two variables.
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| Jce Cream Sales vs Temperature I@ 1

Example 3: Classify the scatter plots as having a positive, negative, or no correlation:

Example 4: Construct a scatter plot of the following data. Is there a correlation?
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Line Graphs:

We use Line Graphs when the data
occurs over time, (time is always placed
on the horizontal axis, the other variable
is placed on the vertical axis)

12

10

(=] -] L 3 om -]

Example 5: Make a line graph for {+he set of data below. Label both the horizontal and
vertical axis. Give the graph a title.
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Circle Graphs:

A circle graph provides a good visual representation
of a set of data because the size of the slices varies
visibly compared to the whole. So you can more readily
see proportional amounts, and it is less likely that

you can misrepresent the data and mislead

observers unless important data is omitted.

Example 6: Raymond works in the tourism industry. His information shows him that five
of the most popular countries for Canadians to visit are Mexico, the United Kingdom,
France, Cuba, and the Dominican Republic. The following graph indicates the percentage of
visits to each of these countries.

Tap Five Yourist Destinations of Canadians

Uniited Kingdom

2536 - Mexico
Q
‘é\‘b - Dominican Republic

UR

23%

a) Which country is most popular with Canadian tourists?

Mexico e, +he most popilac .

b) What percentage of people visiting these countries visited Cuba?

77 visiteA Cooa ~

c} If 200 people were surveyed, hown “Hé‘ébd%le visit the Dominican Republic?
peop ¥

S % vimt
(Rod 1% of Qo »peugb‘u&\ the bL“;, i Repbl
o 100 =i,

Odlox 0O = 29 \E& people st Dominicen Rep.

d) This graph indicates the percentage of visits to the various countries. Listatleast
two things you cannot determine from the graph.

o Thime spentin each country,
200 of eaup Frodecs Amoont of money pent
eYc . 1
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Infographics: .

An infographic is a graphic
visual representation of
information, data or
knowledge. The way the
information is displayed is
intended to present information
quickly and clearly. '

Example 7:

a) If the surface area of
Canada is roughly
9,985,000 km2 how much
of Canada is taken up by
forests?

(ﬁﬂ( 2 Vaf 9% 0 ()
ASICO=0 S|

0.3\ 195000

2OUDRB0 k> [
=S ‘PO (*-.:»'\ > {

b} How many car accidents
happen each year that
involve a moose?

f:

[QLW acciclents|

{(**Not all of the infographic is shown)

Assignment: Worksheet 7B






1. James works at the flight services station located at Yellowknife airport. He uses weather data
often in his job as a flight service specialist. Below is a graph displaying monthly precipitation
amounts for Yellowknife.

Monthly Precipitation Levels in Yellowknife,
January-December, 2006
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0\ What information does this graph show you?

MOGV\'\\ﬁ T\X@C\p\\cﬁ\ on \exe\s in Yellcwk I\I‘E
7 Yo dhe year Q00 |

b) What was the precipitation level in July?

Mook Himm et aspeamahon)

(‘,). How much precipitation fell in total in 20067 (Aﬂaxf(% 2 Nar( 3 as Most L-"I“

\23+\\+\Lo+\<1+33+?_>\+l-\\+55)4,&;_+10+L| 1% bGEﬂhrmieQ

= 20 Coc 20Mem) |
d) Wney type of Smp\r\ s this ¢ Eas
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2. June works at a call centre. Her job is to provide information to callers about her

company'’s products, June must ask each caller which province he or she is from, and where
he or she found the company’s contact information. Consider June's data table below, which

includes her caller data for the month of May.

CALL CENTRE DATA

Source Internet | Information on Television Print Doctor | Other
Product Packaging Commercial Advertisement

Numberof [ o, 134 17 180 78 12

Callers

Draw a bar chart for this information. Label your axes and include a title.
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3. Ms. Runson posted a graph on her notice board.

Marks on Math Quiz
14
b
c |12 i
S 1
A ' &
8 [ ]
"'6 |
a 6
L y
g 4 . _I:
2 2 ': 1—1. 3 : r
> : ! b I = l -
it | b Mk B B
o - e —— ! T Y T Y T T T |
0 1 2 3 4 5 6 7 8 9 10

Student’s Score_bﬁf of Ten

a) What does the graph tell you?

How many studenti—, So’v OV ok
oY OF \G on o CL\)'\z.

b) How many students wrote a perfect paper?

(Yo = Qp@;’%c:\ M‘P@’)
Qe shudent ot o pedect paper
¢) What was the most common score?

d) How many students got 0 on the quiz?

No shudentss scoced zeco

e) How many students wrote Ms. Runson's quiz?

L+ vt o +12+22D3+1 = 20
20 sthudents e dhe Qo






4. The histogram below shows the distribution by ten-year age groupings of Canada’s
population in 2006, rounded to the nearest thousand. Use the histogram to answer the
following.

Canadian Population Distribution by
Age Groupings (2006)

a) Which age group has the greatest
population? What is the
approximate size of this group?

10-50 yeas 0d 1= qrealest
Aoak D.3 millien peeple

b) Approximately how many
Canadians are between 10 and 20?

”.a oo

Number af People {in millions}
(%]

c) Approximately how many
Canadians are between 30 and 507

L\.?_-\- 5\3) = q\i‘)
Moody 4B mijlieaN

10 20 30 40 50 60 70 80 90 100
Age Range

d) Approximately how many Canadians are in their 90's?

0N eelion  (oc 100000)

e) Approximately how many children under 10 were there in 20067

A o

f) Sometimes when discussing the population of a country, the first category is "under
15" and the last category is “65 and over”. Even though the ranges of these two age
categories are not the same as the others, why might they be used?

Tecave Yhew ae o \\kelj Ctﬂes Hhod
ke VoY mcxk\ns ’






5.Adéleis astudentat  college oyl is completing a research project for one of her
courses, She is interviewing people across Canada to determine the average number of
hours of television they watch per week. Adéle recorded her survey results below.

TELEVISION VIEWING

Time |0sh<5 |55sh<10 (10<h<15 |15<h<20 |20=<h<25 |25<h<30 |30<h<35
) LR 254 875 684 912 345 123 62
People

a) Draw a histogram that fairly represents this data.

lelen=on e n

/TR

Ja i /////// AR
5 20 2% 30 a5
e (hoxs)

b) How many people watch between 10 and 15 hours of television a week?

(oRH

¢} How many people watch less than 15 hours a week?

PHIR TSy o34 = (R

W

d) How many people watch 15 or more hours of television during the week?
A3 s1183rea = 14U

/
e) What information is more obvious from the histogram than from the numerical data 4
or vice versa?

LN Jﬂn‘Ul (Cmf‘)Q ey m05-| ( 611 IEC.t‘?jBC Gmmon.

f) Whatinformation is not displayed in this histogram?

Aoes N PoL ok

1

Nunf\\’_)(ir o? p@gpkg Jr\\c& LJQJ\ e\ Noee e
Mon 25 hoss o week .






6. Examine each of the following scatter plots. Determine they type of correlations
(positive, negative, or none)

L% '\'.J(ﬁr‘ﬂte— ’

.':'}\\eﬁc\hfﬁ

d)

. « Nope

L

¢
»
.¢‘

c)

, Posihee

:.t' NP_ ‘hq‘E’,
c.o‘. 3‘:& ¢

-'___.__.

7. The number of people in attendance at a small theme park were recorded along with the
temperature. The data is recorded below. Display the information in a scatter plot.
(Temperature on the horizontal axis and Number of people on the vertical axis)

Tem‘;fg)‘““re 20 | 24 | 36 | 32 | 28 | 38 | 32 | 26
Numberof | .50 | 36 | 450 | 420 | 400 | 500 | 475 | 320
People
o
4
Q
9 1]
Yoo Py
36 d
oy o
(. ) o
O 4] 5
glﬁz
§ 15
Z VW)
%
)] ’5 q 12 4 71 0 32 3 :sq

amperade ()

Is there a correlation in the data? What kind of correlation is it?

%S, Fosihiee (eleiony .






9. Julie started working as a community government assistant housing manager for the city
of Brandon, Manitoba, in April of last year. Her boss has been asked to write a report on the
average number of people placed in community housing monthly. Julie has been given the
task of recording the number of people who have been placed in community housing each
month.

n Number of People Placed

v A in Community Housing

| [ ]
- /

10 AN 7r

Number of People

oON B O o
N,
/
Vi
4
[~

A M J 3 A S O N D J F M
Month

a} In which month were the most people placed? How many people were placed?

Marcn, M peogle

b) Inwhich month were the fewest people placed? How many people were placed?

Apel (& @eop\c)

c) Previous statistics show that, on average, ten people were placed in community
housing in Brandon each month. Compare the average data that julie collected with
the previous average. Predict the reasons for any differences in the averages.

(Find the Mean number of people placed in Community Housing each month).

245744 RINE 104 4T+ 5+ L4 H =93
W52 = 70l = 7.7 peanlo

/(\'\e d-CR\'Ck \er( Tu\\(i C(}“ﬂ‘l\f“d s

e le<s than
Yhe ENGIS QNerage






9. Mark is the foreman on a construction site. He is concerned that some workers are
accidentally injured at work and has prepared the graph below to indicate percentages of
workers from each occupation who were injured on the job in the past five years.

Occupations of Injured Employees
?0\\0!@5 \b\f-'“‘
Loger

3% 6% - Painter
Metal Worker

P~ | Plumber
b Drywaller
J11% . (_,eg- Woodwaorker
A Qe
5 \2;;’& Wet B Machine Operator
\ S N
16% C&@( Electrician

LYW

a) What percentage of the injured workers were painters?
9 o
57
b} If a total of 33 workers were injured, how many of them were electricians?

(P\ecmbicns ave W ¢ the DA - fnd 7% o 33)
(o= 100 = 0.0t O0.0x 33 = | Q%

Qq)(ox\moc\rﬁ\tt) A wece electricions

c) Which appears to be the most dangerous job? Can you say this for certain? Why or
why not?

Plumbing, appeacssto bethe

mosy c\cuj‘xc eroos,. e can b iau
Cecraan becguse we dont hnow) hots

78?(’0@\& Lsofk AN eaCin ’pmﬁ’&sn N

ﬂ’\Cx\j
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WMA 10 7.3 - Experimental Probability Notes

Theoretical Probability - Probability that a certain outcome will occur, based on reasoning
or calculation (What we expect to happen)

Number of Favourable Outcomes for Event A
Total Number of Outcomes in Sample Space

P(A) =

Example 1: A jar contains 5 red, 6 green and 4 blue marbles: - e

a) What is the probability of choosing a green marble?
Plareer) = Nomboer of ogeen machles _ ¢, 73
Tokal numbe_r of marbles ™ 1S F3

PlGreen) = 2
)= 5

b} What is the probabflity of choosing a red marble?
P(Red) = # of ced macley _ & =5

Toral #cl maceles VS T2

PRe) = | \ .

c} What is the probability of choosing a blue marble?

P(RIwe) = #f Boe macbles _ 4

Totol # o{ macbles 15
| P(Rle) - %

% V(Vhat do all the probabllitles add up to? A USC @1 hens Loty (iﬂ{UM/\L\‘\ or
G(C@ﬁ) P (Qed) +'—P(E\ue> A1 S0 Coner o acldd o0

= G _
= T ,__]Lé oc | (W\et)od

*b 1S [ \6
\Oo"/

. © @
@@ 5

%
@5

e) What is the probability of choosing a red or a green?
’P(\\E(\ oc (ar(_e_(b H 0{\ “'(?d ofr Acs‘ceer\ s 5.1_ G _1' l

H dotal rnacbles {5 ‘

Vi

f) What is the probability of not choosingared ora green'?

PNok Red O(breerb o rcz:l/c,,rc'u\ d I_‘ l\

totalmarbes | 15
Nole: snce there aee only Yhe oo opien (Red/Green oo Wok Redd fawen) =
e ceclly only wak Ho Bnd ek we add e 4, 4 I







Fair Game - when all options are equally likely

Example 2: John and Mattie are playing a game. They roll a dice. If the number is a multiple of 3
then John wins, if not then Mattie wins. Is this a fair game? s

'p (SCJ"‘\P\ \)J.N\"“.-B : %{(!g:smd‘cve m.:“"l()lo\cr?, _ __Q__" 2 :——L 3} (o COnl\' t-’:.'?{ S
“+edei '\:O:';SH_Q, OACMTS (nc.'nhc:'a\ (o 2 &
hP(H(.\H’IQ Ld\ﬂ‘tb = #-cp sidesthed ace 4 volhipes of 3 —H= . Q < 2)

Foted posside. crcomes or2 2
AThey (e noveoal £6 s < INOT A FAIR GAME

Example 3: Brendan and Sally are playing a game. They roll a dice. If the number is a@___l_tigl_g_gig,

then Brendan wins, if not then Sally wins. Is this a fair game? 2,4 (s
5 ho T R 4
p(’-&eﬂdﬁ\ (AS.&'\&\ — mjdﬁﬁ“km’t are mothples, of = =)= A ‘“\é“aL afC

Neboerol sicke w (# & nuadhe ) Co L. S (_jj;_,n \\\I l\k-(*'t'-—s
?(’%ﬂ\\, Linzg) = #of sides that are notmuihgecaliz = 21 ;&2 0t U
+ertel outcome s =3 L\‘( ot (Bi-\ﬂ‘ﬂj‘ {

&

Experimental Probability - Probability based purely on actual trials
(What actually happens when we try it out).

P(4) = Number of Times Event A Occurs
Total Number of Trials

Example 4:

a) Roll a 6-sided cube (a die) 5 times and record the results. What is the Experimental

Probability of rollinga 57 Yu.;r r@,‘“bu\‘\‘:;. L \,-.\\ AR (_,-3—} \\k(’,\ b& C 1 | ﬂ:\?.f'c“c\.‘\ 5{
(Write your answer as a fraction as well as a decimal rounded to 4 decimal places.)

Trial# |12 |3 ]4[5| P()- *}_ey_§5_ s
Outcome | | ’\-?) V Tals #of fricds )
2 _DCMMQ\ Sy O,Q

Pl ) = -‘IS oc 0.9 |
b) Roll a 6-sided cube (a die) 10 times and record the results. What is the Experimental

Probability of rolling a 57
[Write your answer as a fraction as well as a decimal rounded to 4 decimal places.)

LzJ

Trial# | 1 |2 | 3| 4|56 78910 (2)
Outcome | | | | | 5%(9“.5 |

Plroll Dy =% o S5 = _|
4 of Anal s (O

Deamal 1510 = 0. | |’~P(\’o\\ 5'3) = ;ch\ {







c) Roll a 6-sided cube (a die) 20 times and record the results. What is the Experimental
Probability of rolling a 57
(Write your answer as a fraction as well as a decimal rounded to 4 decimal places.) @.}

Trial# |1 (2 |3 (4{5|6|7|8|9|10(11(12(13|14(15(16|17|18|19 20

outcome | = D1 QY[ |GIH DS 1GISI 2] A Gl | 3] 4,

':P( ralhna B) = # of S's = 3
377 Haltoas T B0 | Pleoling 5) = ___ oc (o2
wC\ﬁ‘\a\ g %"QO :-0‘5 | \)
d) Roll a 6-sided cube (a die) 40 times and record the results. What is the Experimental

Probability of rollinga 5?
(Write your answer as a fraction as well as a decimal rounded to 4 decimal places.)

p—

Trial# [ 1|2 |3 | 4|56 |78 10 (11|12 (13 |14 |15|16|17 |18 | 19| 20

9
oucome [ [D[H] L[] 1]V V Y[Vl [Q]1 U4 S

Trial# |21|122{23|24|25|26(27|2829|30(31 3313435136 |37|38|39|40

Outcome\SBlH?)CDCo 55

%(ro\\\n o = #Hd DS -4 o .
-\-cﬁa\'\ﬂa\g ATt

Deamal: 1+5 = 6.2

SLEQQ]3]131Q

M

O o] g

Pleding 8= § o 03]

(=
e) What is the Theoretical Probability of rollinga 5?
—P(ro\\m 53 *f 85 e~ dice ~
3 #of possibe outcomes ~ (o f)(( @ \\ﬂ\j
c O.- 17

Yecmal : 156 = O elplololde = O- 17

f) What do you notice when you compare your experimental probabilities and the
theoretical probablllts

Aﬁ Yoo [Lﬂ"\p\ek MO & oce —\—na < ‘MLQ
QY’P(/ mental "J(Ot"-ﬁ\f)\\\ Shoold %er closer (")

%ﬁ -\M Si)\\QO(Q’\’\ cal ’Brobabxl\ j

(z)

—
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WMA 10 Worksheet 7C Assignment

1. A spinner has 4 equal sections as shown. One is green, one is
blue, one is red, and one is yellow.

a) What is the Theoretical Probability of spinning a red?

el - |

b) What is the Theoretical Probability of spinning a green or yellow?

P(Gureen o( \{e\\au\ - ud Seen ef vellow sections -
ddal numloer of sations L[ o

c) What is the Theoretical Probability of spinning a red, green, yellow, or blue?

’P(’Red‘G(eenB\Le o \{e[\q«h = *‘Yg\R.GA,Yq_g% sectins lr ' I

—

totel sections ~

(oc IU{J%)

2. A spinner has 8 equal sections as shown. Three sections are green,
one is blue, two are red, and two are yellow.

a) What is the Theoretical Probability of spinning red?

")CPCJ/B H Red Sections _ ._,__
"’O’%’G\‘S,Lc,hor\,ﬁ <'{'S L—’

Blue .
] 'P(Ral) 'q (
b) What is the Theoretical Probability of spinning a green or yellow? )

(2 vellows 4 %\c)-fe-?n =5

P(Creen o Ye\\otﬁh = *Fﬁr&’én cryellew 1| 5D
el Dechons e

c) What is the Theoretical Probability of spinning a purple?

Plpuria) = #pnlesacters 0I5 |

T e———

tole\sechons B -

o\






19 enceedle s | n Aote)

- —eee—

3. A jar contains 5 red, 6 green and 4 blue marbles. Brenda and Bobby are playing a game.
They pick one marble out of the jar. If the marble is green then Brenda wins, if not Bobby
wins. [s this a fair game? (Explain your answer)

P (Bcenca Wins) Syl el = b 73 2 .QT
totel able o 15 -3 oy

|
| noteque)
P(@okoy Lowng) = #iekgeeen = 972 . 3 | prbabilifies,

ol mables 15 -3 > | ﬁo%i& |55 N{j
1' C\QC\‘\("I(_ a(Y\E".\

4. Carly and Court are playing a game. A 6-sided die is rolled. If the number is Less than 4 -
then Carly wins. Otherwise Court wins. Is this a fair game? (Explain your answer).

H3 on de - IL; 2, %_(“1, >, 6

These oce

Eah

| “lesAvand” These o
p(C&(\\{ wmﬁ\ < olooemosbesthet R =3 _ L eCZUL‘Ll pebrblfes
+ Oc pos,-f;\b\!&_ oXcomos (n . -") .,2_,

S0 thrs T

PLourt Ling) = * adeones pat et . 2 45 _ 1 | o0 faic qame
#t of’ porsible cutcomet @ -3 3 -.2

5. Flip a coin 5 times and record the results. What is the Experimental Probability
of getting a Heads? (Give your answer as a fraction AND as a decimal to 4 places)

)if‘ .-’ll DTS My U (

| - AL J _# ‘l\&xd% _ __|__

Trial# |1 |2 |3 [ 4|5 'P(Head:b s B

Outcome | [ | T | T ‘T 4
Decimad | =55 =0

| PlHeads) = £ o 02 | (@

: 6. Flip a coin 10 times and record the results. What is the Experimental Probability
3% of getting a Heads? (Give your answer as a fraction AND as a decimal to 4 places)

ANSLoCES
MGo, Nau
)

Trial# | 1 | 2 ]| 3 | 4|5 718|910

6
Outcome | Y | [T |H[H[H W IW[H[T S
Plieads)= 2heeds . 5§ 22 |

——

Y .
daial il s [0+ 2 g ""O,%

P(Heods) = % o« O






7. Flip a coin 25 times and record the results. What is the Experimental Probability

of getting a Heads? (Give your answer as a fraction AND as a decimal to 4 places)

i % ANy Mooy Vacwy !
Trial # 12345678910;:-‘.{1213141516171819202122232425

outcome | T |} [ T{W{B|T| T T| T WITIH [W[BITIH B TIHITIH[T[T{TIT

PlHeod) = #heads  _ L Pecimol 2o
Toleltals ™ Q5

1?(%’&{:1;,) = "‘E e Q‘L.{t_/ !,

u_)
8. Flip a coin 50 times and record the results. What is the Experimental Prctbbability
of getting a Heads? (Give your answer as a fraction AND as a decimal to 4 places)
OIS INZu Naus f
Trial# | 1|2 |3 |4]|s5]6 7 e [ o [0 11|12 |13 16|15 | 16| 17| 18| 19] 20 | 21 | 22 | 23 | 24 | 25

outcome [ {4 [Tt [T [ [T W [H [T IR (B W W T T 0 T AR T]H

Trial# |[26[27|28[29)30|31|32[33}34(35[36|37|38}39)|40| 41| 42|43 |44 | 45| 46| 47| 48 49| 50

outcome | T | [T (W[ TIW{TITIW [T |8 MBI T{TIT(TIH W [TIH T 7T

P Heods) = #heeds - 6 Decimel: 2 TH0
fotal fridls = =059

(z)

9. What is the Theoretical Probability of getting a heads?

‘p( HP!'KD t\:heo@xon oy - —-5- Decienal: 1:2=0.5

b\b\Q ™ dﬁ S
| 4
FP(HEC\C\%} = —‘5 or O ( !
i
10. What do you notice when you compare your experimental probabilities and -H\e,
theoretical probabili
ACA -H'\e, NuMmbnesr O'Q —\’Yl CL\Q-; -\(\O{’@a e S 97

Mo expecimente proocoiliby aets osec
Yo e Yreocetical probc{\o\\\aﬂ ,






